
Linear Algebra B 2.2 WeBWorK標準問題集 線形代数学 B

The matrix

A =

⎡

⎢⎣
2 0 0

9 7 −12

8 6 −11

⎤

⎥⎦

has eigenvalues −5, 1, and 2. Find its eigenvectors.

The eigenvalue −5 has associated eigenvector

⎡

⎢⎢⎢⎣

⎤

⎥⎥⎥⎦
.

The eigenvalue 1 has associated eigenvector

⎡

⎢⎢⎢⎣

⎤

⎥⎥⎥⎦
.

The eigenvalue 2 has associated eigenvector

⎡

⎢⎢⎢⎣

⎤

⎥⎥⎥⎦
.
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The eigenvalue −5 has associated eigenvector

⎡

⎢⎢⎢⎣

0

−1

−1

⎤

⎥⎥⎥⎦
.

The eigenvalue 1 has associated eigenvector

⎡

⎢⎢⎢⎣

0

−2

−1

⎤

⎥⎥⎥⎦
.

The eigenvalue 2 has associated eigenvector

⎡

⎢⎢⎢⎣

1

3

2

⎤

⎥⎥⎥⎦
.


